Tableaux des Puissances de Dix (C)

Divisez le nombre de la rangée par celui de la colonne.

0,1 0,01 0,0001 0,001

9,04

1,84

3,84

7,15

5,9

1000 0,1 0,01 0,0001

5,69

8,71

6,44

7,73

9,7

0,001 100 10 0,0001

1,82

5,46

8,73

6,57

9,9

0,1 100 0,001 10 000

8,65

4,24

2,78

7,62

9,37
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Tableaux des Puissances de Dix (C) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 0,1 0,01 0,0001 0,001
9,04 90,4 904 90 400 9040
1,84 18,4 184 18 400 1840
3,84 38,4 384 38400 3 840
7,15 71,5 715 71500 7 150
5,9 59 590 59 000 5900

+ 1000 0,1 0,01 0,0001
5,69 0,00569 56,9 569 56 900
8,71 0,00871 87,1 871 87 100
6,44 0,00644 64,4 644 64 400
7,73 0,00773 77,3 773 77 300
9,7 0,0097 97 970 97 000

+ 0,001 100 10 0,0001
1,82 1820 0,0182 0,182 18 200
5,46 5460 0,0546 0,546 54 600
8,73 8730 0,0873 0,873 87 300
6,57 6570 0,0657 0,657 65 700
9,9 9900 0,099 0,99 99 000

+ 0,1 100 0,001 10 000
8,65 86,5 0,0865 8 650 0,000865
4,24 42,4 0,0424 4 240 0,000424
2,78 27,8 0,0278 2780 0,000278
7,62 76,2 0,0762 7 620 0,000762
9,37 93,7 0,0937 9370 0,000937
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